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I . Answer any three of the following :

(i) If the marginal cost of a firm is rising, then average cost is also rising. True

or false, explain

(ii) A consumer is maximizing his satisfaction with two cups of tea and six

cookies. The price of tea is ? 10 and the price of cookie is {5. What is the

marginal rate of substitution of cookie for tea, if consumer income is (500?

(iv) The marginal product of a skilled worker is three times the marginal product

of unskitled worker. The firm that employs these workers has a fixed cost

outlay and pays the unskilled workers half the price that it pays the skilled

workers . Is this hrms maximizing its profits? If not what will you recommend

the firm to do? Give reasons for your answer.

(v) A monopolistic firm is maximizing its profits. The marginal cost of producing

an additional unit ofoutput is T10 and the price charged by the firm is t20.

What is the price elasticity of demand for the commodity sold by the

monopolist? (6x3=18)

(a) In oligopolistic market structure, unless we make some specific assumptions

about the reactions of other firms to the actions of the firms under study, we

cannot construct the demand curve for that oligopolist and we will have an

indeterminate solution. Explain this with the help of Kinked demand curve
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(e)

(iii) An individual spends all his income on two goods X and Y If a {20 increase

in the price of X does not change the amount consumed ofY, what is the

price elasticity of demand for X.
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(b)

3

Explain the concept of optimal inpyt combination. How do firms determine

the most efficient allocation of inputs to minimize the cost? Explain using the

is cost line and isoquants. (9)

(a) Demand curve for inferior good may be negatively sloped or positively sloped.

Do you agree? Explain with the help of diagrams. (9)

(b) A discriminating monopolist faces a cost function given by C:2000 + 50Q

where Q is the level of output and C is the total cost. The demand function

in the two markets are P,: 100 - 0.5 Q, and P, = 150 - 0.5Qr. How much

output does this monopolist sell in both markets and at what price? What is

his total profit? (9)

(a) The behaviour of costs depends on the pattern of output, when the firm is

producing its output with one fixed and one variable factor ofproduction.

Explain with the help of diagrams. (9)

(b) Identify the competitive and monopolistic elements in monopolistic

competition. 'A monopolistically competitive firm cannot achieve economic

efficiency when it is in equilibrium in the long run'. Discuss with the help of

diagrams. (9)

(a) Mr A has ?170 to spend on ice cream and burgers the price of ice cream

is t20 and the price olburger is t30. The total utility schedule for both the

goods is given below
A
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Units Consumed TU ice cream TU Burger

0 0 0

I 60 81

2 116 153

J 163 2t3

4 203 267

5 239 312

6 271 351

7 300 381

(i) How many ice creams and burgers should Mr A buy and why?

(ii) What adjustments will you advice Mr. A to make if ice cream became

more expensive? Explain your answer. (9)

6. Write short notes on any three of the following : EGCOLLj l:

(i) Short run and long run expansion path {
& v

(ii) Dominant price leadership model of oligopoly
*

foewDeth\

(b) Explain with the help of a diagram the welfare cost to the society under

a monopolistic market structure as compared to a perfectly competitive

market. (9)
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(iii) Necessary conditions for priie discrimination

(iv) Shut down point for a perfectly competitive firm

(v) Implications of reserve capacity for cost curves (6x3:18)
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(v) q-+. r'+rBr+nqrA m..{ irc+ 
"t* 

q',} 3lk{-fi qr r& Br serr< fr w eIRRffi

E*'ri + usrrt fr ffic arrrc <ro I *t q'{ snr ft rr{ frra <zo *r

i'oremrc<rA anr i-ff.r€ qtg fr cr.r fr *{d *q er *r (o"s=te)

(a) rarEr+.ner& qron tr-r<r t, utl HtF Eq 3fisfi + ere q"fr m 6r@ + ftq

rq s'ff fr vftRqr* * <rt n A-o frftre uruI{ TA s-{A ?, .q st rerEr+T csrft

+ fts qm s-f, qI mr q€t q{ tq,+ + *r EqR qm v+' sFfi'q< qqrqrt *mr

trrs Bqrs 6{ ms-{ fr rre t Et qffir(r (s)

(ra) Eem uq-e qfill-< fr ereunrn fr qrcqr dftgr arrm fr 5q s'{+ + fts F{

r<gc + w{+ qlrd Bnq-.{ 6I frtf{ur d+ o,,,rft *? sir{ffi€ Hrfl fti ;IE++.

qr oc+{T q,G qc-f,I{r (s)

(e.) uE+r e-q * ftq cr.r s-fi €olrtro zdm qt sFfl-FI-tF- EflFt qrf,I i ffi-il wI 3Tc

rra{d *? i{Rr* fr qele i qqsr+r (q)

(e) ga; fuH rr"remr.{6 d c : zooo + 50Q ERI ftq rrq arrrd .ntFr o.t ltFrat

q-cqr qsdl I wd Q B{rcagc qr R{ * u)t c a-o ar.rc Br i* s'qr+ + {zr s-flr+

Pr:100-6.5Q, sltr p,= 150-0.5Q" lr qa \'6rDl6,r.ErA ++ qrqrt +

ft-c+ urrege as-dr + d{ fr{ frc-d q<? 3€zFT Em aFr ftffir +? (s)

(a') amfr 6r qq-6R ursege * H qt ftft orat *, vs'n{ eere< * v*' ft'fr-+a

ft cm cMtrc qrc+' * qrtl eFr;Ir srJcse q-{r tff *ft il srir+ m war+m t

{(

2.

4

\

{csE}r (s )@R

€p
I

/t
lr

\

e



6488 1
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Units Consumed TU Burger

0 0 0

I 60 81

2 116 153

3 163 213

1 203 267

5 239 312

6 271 351

7 300 381
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